cxencise (A)
Problem|: Rove +hat W‘(3)=7

Problem2: Pprove that

1. (—'l)"< ni<en(g) n>t
( (ﬂ) < (en K

3. (k)< (1+7)™ and
(-ty < (-2=20)™ for ne N



¢xencise (B)
Problem3: prove Stirings formula

. N
fn (&) <N <y ()€™

Pmuemll.: Skow -HW(‘ (z)s\lzl-—r;k-(iki)

Kk

Problemb . Show that +the 'fun. fix)= ( :f)

IS Convex.




xenrcise (C)
PI’DHQMQ Prove +hat

"3
C2 (LE'E‘)’< R(4, K) < C.Ki for Some Constand,

G ahd C..

M Pr’OVG ~l-ha,'f‘ R(4k)= °(Z.,tk-)z

‘fov Some Constan® c.

IYOMCN 8: S'\ow -H)at c(fk)zz. kZ':'OCIJ




Zxencise (D)
Problem 9: show +het A7 <(R(kk>) <4



